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= = = 81,290,000 129,350,000
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A B} 4,194,306,420 15,109,989, 598
ol 3,124,575,089 8,421,619,037
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i o 1,108, 360,520 851,724,140
4113
nE 2 o | 685,118,070 561,063,865
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i = =) 263,786,500 163,113,920
4115
Al ol =3 279,232,000 209,304,600
4116
£ g8 & = 175,625,000 168,362,000
4
D8 8 = 2| 608,712,999 6,292,669, 782
4
X ol HI 3,740,000 175,380,730
ol 1,069,731, 331 6,688,370,561
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4121
& A = O 461,486,740 483,832,350
4123
AE xS 301,722,420 259,269,990
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& 3 HEREH= 122,547,430 118,529,459
4126
o) = 0 1,410,000
4127
& 2 &g &2 Z 183,974,741 5,825,328,762
4200
{# 2 2 i} 1,229,068,783 1,922,338,961
4210
(Al & 2 2 8l) 101,477,200 204,337,884
211
d=g 2oy 86,773,000 44,541,000
4212
& H 2 2 d 8,050,000 50,536,450
4215
ANlE B 9l 792,000 670,560
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el &9 I = 5,847,200 41,315,084
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4220
2 e B o2 HI) 36,791,320 324,975,085
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6 H W S i 9,822,036 18,880,622
4222
Ag = XA o4 0 10,579,793
1223
A~ 2 2 ]l 3,983,800 25,092,255
4224
oy = B oM 276,450 44,553,200
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A& J.= & =2 0 191,801,570
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= &l ]l 2,370,450 15,292,020
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AENS. 3 It = 7,714,436 1,788,400
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A g = = = 12,624,148 16,987,225
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(2 & bl 921,334,613 1,282,783,012
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=2 = 4 y 14,490,500 5,936,660
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o 5 2 & " 20,769,810 1,648,000
4233
g Bt 2 9 492,142,491 1,076,378,038
4234 ]
J2E HRFAL 0 200,000
4236 )
SN IRCEEL Y 12,885,500 14,148,200
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= e ] 350,442,822 141,269,000
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3 = ]l 1,513,000 1,905,000
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A 2H| 1 169,465,6501 1 110,242,9801
! ! 6,625,686,0591 ! 7,845,515,120
! ! 6,545,801,819| ! 7,707,308,590
s a3 | 6,311,256,499| ! 7,501,762,970|
= Hl 1 Ol 1 51,187,1101
&l ! 206,003,6201 ! 126,074,9501
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(& Al 2 2 8l) 79,884,240 138,206,530
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2 Al = ¢ 12,594,000 33,055,000
4332
2 Al 1 Hl 67,290,240 105,151,530
4400
@5 9o u =) 664,385, 480 6,746,109
4410
(X =3 o X) 16,816,690 0
4411
A = ol X 16,816,690 0
4420
(JIEF =2 Hl 2) 647,568,790 6,746,109
4421
S N 647,568,790 6,746, 109
4500
{& B = 0 0
s 2 o = 8l o | 12,713,446, 742] | 24,884,589, 788|
230 | & 32 CH I <H = Al | 608,457,214 | 141,389,927 |
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